MATHS

BOOKS - MAXIMUM PUBLICATION

MODEL PAPER 2

1. Sum of two numbers is 25. The difference is

10. Find the numbers.

[ o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Rw1oId3MovWl

2. Fill in the blanks.

1 1><125_125
8 8 X B

o Watch Video Solution

3. 5 books and 3 pens cost 230 rupees. 10
books and 3 pens cost 430 rupees.

What is the cost of 5 books?

o Watch Video Solution



https://dl.doubtnut.com/l/_Rw1oId3MovWl
https://dl.doubtnut.com/l/_XtBsYKWUJ2am
https://dl.doubtnut.com/l/_1lXNktY4S1mE
https://dl.doubtnut.com/l/_kxMbqiGtYvTU

4. 5 books and 3 pens cost 230 rupees. 10
books and 3 pens cost 430 rupees.

Find the cost of one pen.

o Watch Video Solution

5. 5 books and 3 pens cost 230 rupees. 10
books and 3 pens cost 430 rupees.

What is the cost of 4 books as 4 pens?

o Watch Video Solution



https://dl.doubtnut.com/l/_kxMbqiGtYvTU
https://dl.doubtnut.com/l/_gVpW4bwgIOhT
https://dl.doubtnut.com/l/_CmaUotcLA5Xf

6. Find the decimale form of the following

fractions.

1

E

o Watch Video Solution

7. Find the decimale form of the following

fractions.

1+1
s} 25"

o Watch Video Solution



https://dl.doubtnut.com/l/_CmaUotcLA5Xf
https://dl.doubtnut.com/l/_Ap6CUGf8dD1P

8. Draw A ABC with AB — 7em,/A = 60°,

/B = 65°.

o Watch Video Solution

9. In a circle a chord of length 42 cm is 20 cm
away from the centre.

Find the radius of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_yi4saAENIiFN
https://dl.doubtnut.com/l/_jPocxWuQcDzy

10.In a circle a chord of length 42 cm is 20 cm
away from the centre.
Find the length of chord which is 21 cm away

from the centre.

o Watch Video Solution

1. The quadrilateral ABCD. AB = Tcm.
AD = 5¢cm, BC = 5¢em. /A = 60°,
/B = 110°. Draw a triangle having equal area

to quadrilatered ABCD.

| & I


https://dl.doubtnut.com/l/_Ai4AxQsXM8MC
https://dl.doubtnut.com/l/_g5fqOrRGDY13

| ¥ Watch Video Solution

12. Complete the following

V8= x /3.

o Watch Video Solution

13. Comolete the following

(v3 x v/2) + 54/3=

o Watch Video Solution



https://dl.doubtnut.com/l/_g5fqOrRGDY13
https://dl.doubtnut.com/l/_RAFtGcSaICYu
https://dl.doubtnut.com/l/_rlRj2jwUWQs2
https://dl.doubtnut.com/l/_Y2luHtL8ErY8

14. Complete the following

° Watch Video Solution

15. Complete the following

/8

S

° Watch Video Solution

16. In a two digit number, the sum of digits is

13. The number got by interchanging the


https://dl.doubtnut.com/l/_Y2luHtL8ErY8
https://dl.doubtnut.com/l/_5NORqwYJI3BF
https://dl.doubtnut.com/l/_9nJKmRVneaEe

digits is 27 more than the first number.
Considering the digit in tense place as x and

once place as y find the number.

o Watch Video Solution

17. Explain two ways to draw a line of length

(VI7) cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_9nJKmRVneaEe
https://dl.doubtnut.com/l/_VIHQbcupE8Uf

18. Cost of 3 pen and 4 pencils tpgethr is 52
rupees. Cost of 6 pen and 3 pencil is 84 rupees.

So what is the cost of one pen and one pencil?

o Watch Video Solution

19. The length of a rectangle is (1/5)cm and

breadth (1/2)cm.

What is its perimeter?

o Watch Video Solution



https://dl.doubtnut.com/l/_kcCN3nTh4itp
https://dl.doubtnut.com/l/_XpfdYwfttSnk
https://dl.doubtnut.com/l/_jM59m6DWrybx

20. The length of a rectangle is (4/5)cm and
breadth (\/i)cm.
Find the area.

[Find in cm /2 = 1.14,,/5 = 2.23]

o Watch Video Solution

21. What is the decimal form of "1/2?

o Watch Video Solution



https://dl.doubtnut.com/l/_jM59m6DWrybx
https://dl.doubtnut.com/l/_WFdZZRT8sgWi

1
22. What is the decimal form of —2?
2

o Watch Video Solution

1 1
23.What is the decimal form of 1 + 3 + g?

° Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_jcflVi6muo9I
https://dl.doubtnut.com/l/_KtpTmd3iVgoN
https://dl.doubtnut.com/l/_J1p3YK9CgBtV

25. Using this find the decimal form of
1 1 1 1

5+§+§+¥°

o Watch Video Solution

26. Change the fraction into decimal by

making the denominator a power of 10.

1
20

o Watch Video Solution



https://dl.doubtnut.com/l/_CRi0BwXWNcRf
https://dl.doubtnut.com/l/_vjUrK6Q4lkmd

27.Change the fraction into decimal by making

the denominator a power of 10.

11
125

o Watch Video Solution

28. Change the fraction into decimal by

making the denominator a power of 10.

13
80°

o Watch Video Solution



https://dl.doubtnut.com/l/_ffMXeSscAJEH
https://dl.doubtnut.com/l/_uescytD1L0hq
https://dl.doubtnut.com/l/_abF2ZUTMpwEt

29. What is the length of one side of a
equilateral triangle with height 3 cm.

Find the perimeter.

o Watch Video Solution

30. What is the length of one side of a
equilateral triangle with height 3 cm.

Find the area [Find in cm/3 = 1.73].

o Watch Video Solution



https://dl.doubtnut.com/l/_abF2ZUTMpwEt
https://dl.doubtnut.com/l/_nF6xC6wlao6q
https://dl.doubtnut.com/l/_zJ0crntqUaBY

31. Second power of 2 is 22
3" power 2°

The product of 2's 4th power is 2's 6t power.

24 > 22 :24+2 :26

like this
2_4 _9d-2 _ 92
9? B

If we divide 2™ power of 2 with 2™¢ power of 2,

if a number is divided with the same number it



https://dl.doubtnut.com/l/_zJ0crntqUaBY

| ¥ Watch Video Solution |

32. Second power of 2 is 22
3" power 2°

The product of 2's 4th power is 2's 6t power.

24 > 22 :24+2 :26

like this

2_4 _9d-2 _ 92

2?2

If we divide 2" power of 2 with 2™ power of 2,

if a number is divided with the same number it


https://dl.doubtnut.com/l/_zJ0crntqUaBY
https://dl.doubtnut.com/l/_1F0GC7QdVWeQ

Now answer the following question.

° Watch Video Solution

33. Second power of 2 is 22
3" power 2°

The product of 2's 4™ power is 2's 6 power.

24 > 22 :24+2 :26

like this

2_4 _94—2 _ o2

2 B

If we divide 2" power of 2 with 2™ power of 2,


https://dl.doubtnut.com/l/_1F0GC7QdVWeQ
https://dl.doubtnut.com/l/_3iXUSKhP2h3F

if a number is divided with the same number it

Now answer the following question.

10°
10°

o Watch Video Solution

34. Second power of 2 is 2
3" power 2°

The product of 2's 4th power is 2's 6" power.

24 > 22 :24+2 :26


https://dl.doubtnut.com/l/_3iXUSKhP2h3F
https://dl.doubtnut.com/l/_AyTZgHAeZBSz

like this

If we divide 2™ power of 2 with 2™¢ power of 2,

if a number is divided with the same number it

° Watch Video Solution



https://dl.doubtnut.com/l/_AyTZgHAeZBSz

35. Second power of 2 is 22
3" power 2°

The product of 2's 4th power is 2's 6t power.

24 > 22 :24+2 :26

like this
2_4 _9d-2 _ 92
9? B

If we divide 2™ power of 2 with 2™¢ power of 2,

if a number is divided with the same number it

Now answer the following question.

7°=


https://dl.doubtnut.com/l/_AqMBqrmCfMQX

° Watch Video Solution

36. Second power of 2 is 22
3" power 2°

The product of 2's 4™ power is 2's 6 power.

24 > 22 :24+2 :26

like this

2_4 _94—2 _ o2

2 B

If we divide 2" power of 2 with 2™ power of 2,

if a number is divided with the same number it

iIs one.


https://dl.doubtnut.com/l/_AqMBqrmCfMQX
https://dl.doubtnut.com/l/_9IEgYku7CT8v

Now answer the following question.

aP x a?

a’

o Watch Video Solution



https://dl.doubtnut.com/l/_9IEgYku7CT8v

